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a total 120 items. Use Blank pages available at the
end of Question Booklet for rough work.
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56.

57.

58.

59.

60.

Aaditya can make 50 cakes in 25hours,
Aaditya and Arnav together can make 75
cakes in 15 hours.How many cakes Arnav can
makein 15 hours ?

a. 25
b. 45
c. 20
d. 10

If 7 spiders make 7 webs in 7days, then 1
spider will make 1web in how many days?

a. 1
b. 7/2
c. 7

d. 49

Which of the set of three sides can't form a
triangle?

a. S5cm,6cm,7cm

b. 5cm,8cm, 15¢cm

c. 8cm,15cm, 18 cm

d. 6cm,7cm, 11 cm

A point P lying inside a triangle is equidistant
from the vertices of the triangle. Then the
triangle has Pas its:

a. Centroid

b. Incentre

c¢. Orthocentre
d. Circumcentre

If angles of measure (5y + 62°) and (22° +y)
are supplementary, then value ofy is:

a. 16°
b. 32°
c. &8°
d. 1°
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61.

62.

63.

64.

65.

66.

67.

Who wrote the work “The Prince”?

a. Mac Iver

b. Locke

c. Austin

d. D. Machiavelli

Positivist Liberals are in favour of  ?

a. Pushing the state out of economic field

b. Doing away the state's interference in the
economic sphere

c. State regulation of the economic

conditions in the interests of workers

State regulation to protect the interests of

the capitalists

Aristotle expressed views on revolution in his
book (Politics) on the basis of the study of
constitutions of _ ?

a. 58 Greek City-states

158 Greek City-states

98 Greek City-states

Unspecified Number of City-states

Ao o

Political science has taken a turn toward the

social sciences in its studies of _?

a. Law and administration

b. The moral effects of government policies

c. Work as a source of identity

d. The social impact of government on
groups and individuals

Quantitative research is generally, closely
affiliated with ideas from 'the scientific method',
which can include  ?

a. The generation of models, theories and
hypotheses

The development of instruments and
methods for measurement

c. Experimental control and manipulation of
variables

All of the above

b.

d.

Social justice is primarily concerned with _ ?
a. 'Who governs society

b. How society is governed

c. How society is defined

d. Who should get what in society?

What does the word ‘Democracy’ represents?
a. Power of the government

b. Power of the representatives

c. Power of the people

d. Power of the executive
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68. Who wrote ‘Das Capital’?

69.

70.

71.

72.

73.

74.

a.

Max Weber

b. Karl Marx
c.
d. Laski

Herbert Spencer

Direct democracy was established in  ?

a.

Ancient Greek city-states

b. Latin American states
C.
d. African states

Ancient India

What does Equality of opportunity means  ?

a.
b.
c.

d.

Everybody as equal right to complain
everybody finishes the same start in life
Everybody finishes the same regardless
of effort

Everybody is equal

Which one of the following statements is
correct?

a.
b.

c.
d.

Liberty means absence of all restrains
Liberty means power to do whatever one
pleases

Liberty means absence of objection
Liberty is not total absence of restrains but

the existence of socially acceptable restrains

Who wrote the book “Who Governs’?

a.

b
c.
d

A.B. Hall

. Laski

Robert.A. Dahl

. Plato

Hobbes Theory of Social Contract is
explained in which of the following book?

a.

Republic

b. Prince
C.
d. Leviathan

Social Contract

Which of the following commission was
appointed by the Central Government on Union
State relations in 19837

a.

oo

Sarkariya commission
Dutt commission
Setalvad commission
Rajamannar commission
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75.

76.

77.

78.

79.

80.

81.

Which of the following article deals with the
election of the Vice-president?

a. Article 64

b. Article 68

c. Article 66

d. Article 62

Who among the followings appoints Prime
Minister?

Attorney general of India

b. President

c. Vice-president

d. Chief justice of India

®

The total number of ministers including the
prime ministers shall not exceed  ?
a. 20% members of the Lok Sabha
b. 10% members of the Lok Sabha
c. 25% members of the Lok Sabha
d. 15% members of the Lok Sabha

The concept of natural liberty is associated
with which theory?

a. Divine origin theory

b. Social contract theory

c. Force theory

d. Evolutionary theory

Who among the following was the chief
exponent of natural liberty?

a. Rousseau

b. Laski

c. Plato

d. Herbert Spencer

Political liberty is often taken as synonymous
with which of the following?

a. Democracy

b. Majority rule

c. Freedom

d. Independence of division

Which of the followings are the powers of
the Supreme Court?

Original and Appellate Jurisdiction

b. Appointment of ad-hoc judges

c. Judicial review

d. All the above

®
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82.

83.

84.

85.

86.

87.

Consider the following statements. Which

among them is/are NOT true?

I. Standing Committees are the permanent
committees that are constituted on a
regular basis

II. Ad hoc committees are temporary
committees that are dissolved when the
task is completed

III. Committee of Privileges is an ad-hoc
committee

IV. Joint Committee on Fertilizer pricing is a
standing committee

a. Only III and IV

b. Only I and II

c. Only I and III

d. Only Il and IV

The impeachment of the President is carried
by which one of the following?

a. Attorney general

b. Members of the legislative
c. Parliament

d. Prime minister

The Pressure groups are  ?

o

Political organisations

b. Economic organisation

c. Moral organisations

d. Organisations of universal character

Which of the following are known as Pressure
Groups?

a. Trade unions

b. Caste groups

c. Tribal organisations

d. All the above

The representatives of the state in the Rajya
sabha are elected by whom from the following?
a. Chief minister of the state

b. Elected members of the state legislative

assembly
c¢. QGovernor
d. President

Which is the oldest known system designed
for the redressal of citizen's grievance?

a. Ombudsman System

b. Lokpal

c. Lokayukta

d. None of the above
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88.

89.

90.

91.

92.

Which of the following is not a feature of
Election system in India?

a. Universal Adult Franchise

b. Secret Voting

c. Reservation of seats in the legislature for
the members of Scheduled Castes and
Scheduled Tribes

Communal Electorate

Which of the following statements is/are

false?

1. For qualifying to the Lok Sabha, a person
must be at least 25 years of age

2. A person can be a member of both Lok Sabha
and Rajya Sabha at the same time

3. A person belonging to Scheduled Caste and
Scheduled Tribe can contest elections from a
general seal also, and not just with the reserved
seat

4. If a member of either of the Houses votes
against the directions given by his party, he can
be deemed to be disqualified

Code:

a. Only 1
b. Only 2 and 4

c. Only3

d. Only2

The Constituent assembly was set up in which
year?

a. 1945

b. 1946

c. 1947

d. 1949

Who Lead the Shri Ram Mandir construction
Movement

a. Lal Krishan Advani

b. Jay Prakash Narayan

c. Ashok Singhal Vishwa Hindu Parishad

d. None of Above

The Constitutional Position of President of
India is most closely similar to  ?

a.  British monarch

US President

Russian President

British Prime minister

/e o
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93.

Which among the following fundamental
rights has been subject to maximum litigation
after inauguration of the Constitution of India?

a. Right to freedom

b. Right to constitutional remedies

¢. Right to property

d. Right against exploitation

94. Who is the writer of renowned book “Daishik

95.

96.

97.

98.

Shastra” ?

a. B.R. Ambedkar

b. Ram Manohar Lohia

c. Badrishah Thulgharia

d. Pt. Deendayal Upadhyay

Who gives this statement “ If untouchability
is not wrong, nothing else is wrong in the world
and 1t should go lock, stock and barrel”

a. Bala Saheb Deoras
b. Jay Parkash Narayan
¢. Mahatma Gandhi

d. Abul kalam Azad

The idea of self-government is in the first
three words of the Constitution. What are these
words?

a. We the People

b. Congress shall make

c. We the British

d. We the Colonists

What is the “rule of law™?

a. Everyone but the President must follow
the law

b. Government does not have to follow the
law

c. All laws must be the same in every state

d. Everyone must follow the law

Which of the followings are the two parts of

the U.S. Congress?

a. The House of Representatives and the
courts

b. The House of Lords and the House of
Commons

¢. The Senate and House of Representatives
The Senate and the courts
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99.

100.

101.

102.

103.

104.

105.

Initially how many members were the part of
Indian constitute assembly?

a. 389

b. 223

c. 486

d. 332

The members of the Rajya Sabha are elected
for the tenure of how many years?

a. 5

b. 6
c. 4
d 7

For participating in Indian freedom
movement, the founder of Rastriya
Swayamsevak Sangh Dr. K.B. Hedgewar was
sent to jail by the Britishin __and _ ?

1921 & 1930

b. 1925 & 1937

c. 1927 & 1930

d. 1921 & 1931

®

Who 1is known as
utilitarianism?

James mill

b. Jeremy Bentham

c. Wright mill

d. None of these

the founder of

®

The concept of separation of power was given
by

a. Montesquieu

b. Machiavelli

c. Bentham

d. None of these

Theory is derived from the word theoria
which is taken from

Greek word

English word

Roman word

Latin word

&

b
c.
d

According to Kautilya there are

Four Elements of State
b. Five Elements of State
c. Six Elements of State

d. Seven Elements of State

®

99.

100.

101.

102.

103.

104.

105.
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106.

107.

108.

109.

110.

I11.

is the earliest theory of rights

a. Liberal individualist theory of Natural
Rights

b. Legal theory

Welfare theory

d. None of the above

o

Who among the advocate of negative theory
of liberty?

a. Kant

b. Marx

c. Sedgwick

d. Isaiah Berlin

Who introduced the idea of "Veil of
Ignorance.................. ?

John Rawls
Thomas Cajetan
John Calvin
Jean Bodin

/o o

Who defined democracy as “government of
the people”

a. Woodrow Wilson

b. Lord bryle

c. Laski

d. Abraham Lincoln

Who first gave the concept of distributive
justice

Plato

b. Aristotle

c. Machiavelli

d. Locke

P

The “fair equality of opportunity” was
developed by

a. John Rowls

Plato

Rousseau

b.
C.
d. Lock

112. Which one of the following is not relevant to

Traditional Approach.
a. Philosophical

b. Historical

c. Institutional

d. Behavioural

106.
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113. The success of democracy depends upon
a. Periodic Elections.
b. Voting.
c. Campaigning in The Elections.
d. All the above

114. The origin of democracy can be traced back
to
a. Ancient Greek City States
b. Medieval Period
c. Indian Vaidik era
d. Modern era

115. The term ‘Globalization” was coined by
a. Kaplan
b. Theodore Levitt
c. Burton
d. Spiro

116. Who said “Political liberty without
economic equality is a myth”

a. T.H. green

b. J.S Mill

¢. G.D.H Cole
d. H.J. Laski

117. Which theory of the State is expounded in
Santhi Parva?
a. Divine Theory
b. Social Contract Theory
c. Theory of Consent
d. Both A and B

118. The Dalit Panther Movement was launched

in

a. West Bengal
b. Bihar

c. Odisha

d. Maharashtra

119. What is the correct chronological sequence of

the below? Choose the right answers from codes:

(i) The Atlantic Charter

(i1) Bretton Woods Conference
(ii1) Casablance Conference
(iv) Yalta Conference

Codes:

. (1), (1), (i), (iv)
. (1v), (1), (iii), (1)
- (1), (iv), (1), (iii)
. (i), (i), (i), (ii)

o

o o o
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113, &frehe=r it Terar 9T Fizdt 8
a. rafe AT
b. FIfEm
c. FATE H YA FATI
d

. STaE Ty

114, F7ehe=T T Ieqte T IqT RTAT SATEFRAT &
a. STHIT AT AT T

b. HETFRTAI srafer
c. WL afes I
d. smgfEE I

115 Fsfrpeor ores foees grer foam T ome
a. hIdrd
b. feEr @faar
c. oA
d. o
116. TrE FgT 9T "t qeT=ar « faar
TSI Taerar U o g
Cif e A
& uH Ao
ST ST U F
TS, AT

117.erifa va § w57 & e fsra i smear $ir
TE 32
a. A Resa
b. HATHTE A s
c. FgHfd T faar
d. AsfizBamHl

118.2fera T o Faf & 6T 7 &7 |
ot S

faem

At

REI

/e ow

ao o e

119. 5= %7 F&T FTATIH HE HH FIT 2?2 Fel § H
el 3T I+
(i) sreerifes AT
(ii) sTeT 29 TFHAT
(ifi) FETeAH TFHT
(iv) TTeaT AEIAT
FE
. (1), (111), (i1), (1v)
. (1v), (i1), (ii1), (1)
(i), (iv), (0, (i)
. (iid), (), (iv), (ii)

o o o

o



120. What is the correct chronological sequence 120. HYE FIATH T {207 70 AISAT A7 AT

of the models given by Morton Kaplan? Choose FTATH S B FIT 22 Fial | F Tl IAL I
the right answers from codes:

(1) Balance of Power E:i))igﬁ?rﬁﬁ Faroe e
(i1) Universal International System (i) AT T-erver srorrefy
(111) Tight Bi-polar system . ) R
(iv) Loose Bi-polar system (iv) ?:ﬁ(%)%(_ﬁj )
N e e s a. (1), (iv), (ii1), (ii

b E?V’f‘é?;féi?s (23 b (tv), (i), (it), (1)

(i), (i), Q). (iv) . (i), (i), (1), (iv)
: (i), (i), (iv). (iii) d. (i), (@), (iv), (iii)
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